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BSEH Model Paper (2025-26) 

CLASS: 11th (Sr. Secondary)       Code: A 

Roll No. 

 

जीव  िवǒान 

BIOLOGY 

[Hindi and English Medium] 

ACADEMIC / OPEN 

[Time allowed: 3 hours]     [Maximum Marks: 70] 

________________________________________________________ 

 कृपया सुिनिʮत करŐ  िक इस Ůʲ पũ मŐ मुिūत पृʿ संƥा मŐ 18 हœ और इसमŐ 35 

Ůʲ हœ। 

Please make sure that the printed pages in this question paper are 

18 in number and it contains 35 questions. 

 Ůʲ पũ के दाईं ओर िदए गए कोड नɾर को छाũ Ȫारा उȅर-पुİˑका के पहले 

पृʿ पर ᎘लखा जाना चािहए। 

The Code No. on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 
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 िकसी Ůʲ का उȅर देना शुŝ करने से पहले उसका Ţमांक ᎘लखना होगा। 

Before beginning to answer a question, its Serial Number must be 

written. 

 अपनी उȅर पुİˑका मŐ खाली पɄा/पɄे न छोड़Ő। 

Don’t leave blank page/pages in your answer-book. 

 उȅर-पुİˑका के अितįरƅ कोई अɊ शीट नही ं दी जाएगी। अतः  

आवʴकतानुसार ही ᎘लखŐ व ᎘लखे उȅर को न काटŐ। 

Except answer-book, no extra sheet will be given. Write to the point 

and do not strike the written answer. 

 परीƗाथŎ अपना रोल नंबर Ůʲ पũ पर अवʴ ᎘लखŐ। 

Candidates must write their Roll Number on the question paper. 

 कृपया Ůʲो ंका उȅर देने से पूवŊ यह सुिनिʮत कर लŐ िक Ůʲपũ पूणŊ व सही है, 

परीƗा के उपरांत इस संबंध मŐ कोई भी दावा ˢीकार नही ंिकया जाएगा। 

Before answering the questions, ensure that you have been supplied 

the correct and complete question paper, no claim in this regard, 

will be entertained after examination. 

________________________________________________________ 

सामाɊ िनदőश:  

 (i) सभी Ůʲ अिनवायŊ हœ। 

 (ii) वˑुिनʿ Ůʲो ंके सही िवकʙ ᎘लखŐ। 

(iii) Ůȑेक Ůʲ के अंक उसके सामने दशाŊए गए हœ। 
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General Instructions:  

 (i) All questions are compulsory. 

 (ii) Write the correct option in objective type questions. 

 (iii) Marks of each question are indicated against it. 

________________________________________________________  

1. Which of the following is a bacterial disease of plant?   1 

a) cholera 

b) rust 

c) citrus canker 

d) spindle tuber 

िनɻ᎘लİखत मŐ से कौन सा पौधे का जीवाणुजिनत रोग है?  

a) हैजा  

b) िकǥ रोग  

c) साइटŌ स कœ कर   

d) İ˙ंडल Ǩूबर  

2. What is symbol of bilateral symmetry in floral formula?   1 

a) % 

b) ⊕ 

c) ♀ 

d) ♂ 
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पु˃ी सूũ मŐ िȪपािʷकŊ  समिमित का संकेत Ɛा है?    

  

a) % 

b) ⊕ 

c) ♀ 

d) ♂ 

3. Which part of alimentary canal in frog receives juices from common 

bile duct?          1 

a) Gall bladder 

b) Duodenum 

c) Rectum 

d) Cloaca 

मŐढक मŐ आहारनाल का कौन सा भाग मूल िपȅ वािहनी से रस Ůाɑ करता है? 

a) िपȅाशय 

b) Ťहणी  

c) मलाशय 

d) अवˋर  

4. Which of the following is a pore in cell wall?     1 

a) Middle lamella 

b) Ribosome 

c) Plasmodesmata 

d) Peroxisome 

िनɻ᎘लİखत मŐ से कौनसा को᎘शका िभिȅ मŐ एक िछū है?   
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a) मȯपट᎘लका  

b) राइबोसोम    

c) जीवūʩ तȶु   

d) परऑƛीसोम   

5. Which of the following secondary metabolite is a toxin?   1 

a) curcumin 

b) codeine 

c) ricin 

d) all of the above 

िनɻ᎘लİखत मŐ से कौन सा िȪतीयक उपापचयज एक टॉİƛन (िवष) है? 

a) करकुमीन  

b) कोडीन  

c) įरसीन  

d) उपयुŊƅ सभी  

6. What is the number of carbon atoms in phosphoglycolate?  1 

a) 2 

b) 3 

c) 4 

d) 5  

फॉ˛ोƸाइकोलेट मŐ काबŊन परमाणुओ ंकी संƥा िकतनी होती है? 

a) 2  



BSEH Model Paper Class: XI 2025-26 

6 
Biology  Code: A
  

b) 3 

c) 4 

d) 5 

7. How many molecules of CO2 are evolved if a cell consume twelve 

molecules of O2 for respiration of glucose?     1 

a) 6 

b) 12 

c) 18 

d) 24 

यिद एक को᎘शका Ƹूकोज़ के ʷसन के ᎘लए O2 के बारह अणुओ ंका उपभोग 

करती है तो CO2 के िकतने अणु मुƅ होते हœ?  

a) 6 

b) 12 

c) 18 

d) 24 

8. What is volume of air called which is inspired during a normal 

respiration?          1  

a) ERV 

b) RV 

c) IRV 

d) TV 
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एक सामाɊ ʷसन िŢया के समय अंतः  ʷा᎘सत वायु का आयतन Ɛा कहलाता 

है? 

a) ERV 

b) RV  

c) IRV 

d) TV  

9. Which type of leucocytes are most abundant in humans?   1 

a) Monocytes 

b) Lymphocytes 

c) Basophils 

d) Neutrophils 

मनुˈो ंमŐ िकस Ůकार के ʞूकोसाइट सबसे Ůचुर माũा मŐ हœ? 

a) मोनोसाइट 

b) ᎘ल̱फोसाइट 

c) बेसोिफल  

d) ɊूटŌ ोिफल  

10.  What is type of plant which possess vascular tissues but lacks 

seeds?           1 

िकस Ůकार का पौधा है ᎘जसमŐ संवहन ऊतक होते हœ लेिकन बीज नही ंहोते है? 

11. What is number of chromosomes in human cells after S phase? 

            1 
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S Ůाव˕ा के पʮात मानव को᎘शकाओ ंमŐ गुणसूũो ंकी संƥा Ɛा होती है? 

12. What is “radial arrangement” of vascular tissues?    1 

संवहनी ऊतको ंकी "अरीय ʩव˕ा" Ɛा है? 

13. Our heart consists of ____________ types of tissues.   1  

हमारे şदय मŐ ____________ Ůकार के ऊतक होते हœ।  

14. Unipolar neurons are usually found in the _____________ stage.  1 

एकŬुवीय तंũको᎘शकाएँ (ɊूरॉɌ) आमतौर पर _____________ चरण मŐ पाए जाते 

हœ।  

15. _____________ helps seed to withstand desiccation.    1 

_____________ बीज को जल शुʺन का सामना करने मŐ मदद करता है।  

16. The question below consists of two statements: Assertion (A) and 

Reason (R), answer the question by selecting the appropriate option 

given below.          1 

Assertion (A): Telophase is initial stage of karyokinesis. 

Reason (R): Cell organelles reform in telophase.  

a) Both A and R are true, and R is the correct explanation of A.  

b) Both A and R are true, and R is not the correct explanation of A. 

c) A is true but R is false.  

d) A is false but R is true. 
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िनɻ᎘लİखत Ůʲ मŐ दो कथन है: अिभकथन (A) और कारण (R), Ůʲ के नीचे िदये 

गए उपयुƅ िवकʙ का चयन करते Šए उȅर दी᎘जए।  

अिभकथन (A): अंȑाव˕ा (Telophase) सूũी िवभाजन (कैįरयो काइने᎘सस) का 

Ůारंिभक चरण है । 

कारण (R): अंȑाव˕ा (Telophase) मŐ को᎘शका अंगको ंका पुनिनमाŊण हो जाता 

है।   

a) A व R दोनो ंसȑ हœ तथा R, A की सही ʩाखया है। 

b) A व R दोनो ंसȑ हœ तथा R, A की सही ʩाखया नही ंहै।  

c) A सȑ है परंतु R असȑ है। 

d) A असȑ है परंतु R सȑ है। 

17. The question below consists of two statements: Assertion (A) and 

Reason (R), answer the question by selecting the appropriate option 

given below.          1 

Assertion (A): Proximal Convoluted Tubules maintains pH of body 

fluids. 

Reason (R): Proximal Convoluted Tubules selectively secrets 

hydrogen ions into filtrate. 

a) Both A and R are true, and R is the correct explanation of A.  

b) Both A and R are true, and R is not the correct explanation of A.  

c) A is true but R is false.  

d) A is false but R is true. 
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िनɻ᎘लİखत Ůʲ मŐ दो कथन है: अिभकथन (A) और कारण (R), Ůʲ के नीचे िदये 

गए उपयुƅ िवकʙ का चयन करते Šए उȅर दी᎘जए।  

अिभकथन (A): समीप˕ संव᎘लत न᎘लकाएं शारीįरक तरलो ंके पीएच को बनाए 

रखती हœ । 

कारण (R): समीप˕ संव᎘लत न᎘लकाएं हाइडŌ ोजन आयनो ं का िन˟ंद मŐ 

चयनाȏक ˓वण करती हœ । 

a) A व R दोनो ंसȑ हœ तथा R, A की सही ʩाखया है। 

b) A व R दोनो ंसȑ हœ तथा R, A की सही ʩाखया नही ंहै।  

c) A सȑ है परंतु R असȑ है। 

d) A असȑ है परंतु R सȑ है। 

18. The question below consists of two statements: Assertion (A) and 

Reason (R), answer the question by selecting the appropriate option 

given below.          1 

Assertion (A): Lag phase is initial phase in geometrical growth. 

Reason (R): Log phase has rapid growth. 

a) Both A and R are true, and R is the correct explanation of A.  

b) Both A and R are true, and R is not the correct explanation of A.  

c) A is true but R is false.  

d) A is false but R is true. 

िनɻ᎘लİखत Ůʲ मŐ दो कथन है: अिभकथन (A) और कारण (R), Ůʲ के नीचे िदये 

गए उपयुƅ िवकʙ का चयन करते Šए उȅर दी᎘जए।  
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अिभकथन (A): लैगफेस Ǜािमतीय वृ᎘Ƞ मŐ Ůारंिभक चरण है। 

कारण (R): लॉग चरण मŐ तेजी से वृ᎘Ƞ होती है। 

a) A व R दोनो ंसȑ हœ तथा R, A की सही ʩाखया है। 

b) A व R दोनो ंसȑ हœ तथा R, A की सही ʩाखया नही ंहै।  

c) A सȑ है परंतु R असȑ है। 

d) A असȑ है परंतु R सȑ है। 

19. Name a taxon each which is similar and different in classification of 

mango and wheat.         2 

उस  Ůȑेक वगŊक का नाम बताइए जो आम और गेšं के वगŎकरण मŐ समान एवं  

िभɄ है। 

Or  

अथवा  

Name two genera of animals which belong to same family.  2  

जंतुओ ंके दो वंशो ंके नाम बताइए जो एक ही कुल से संबंिधत हœ।  

20. Write the biochemicals found in viruses, viroids and prions. 2 

िवषाणुओ,ं वाइरोइडो ंएवं Ůोसंको ं(िŮओनो)ं मŐ पाए जाने वाले जैव रसायनो ंको 

᎘लİखए।  

21. What is number of bones in human skull? Which type of joint 

inhibits movement of bones in skull?      2 

मानव करोिट मŐ हिǭयो ंकी संƥा िकतनी होती है? िकस Ůकार का जोड़ करोिट 

मŐ हिǭयो ंकी गित को रोकता है। 
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22. What are types of respiration and their associated respiratory 

organs in frog?          2  

मŐढक मŐ ʷसन के Ůकार और उनके संबंिधत ʷसन अंग Ɛा हœ?  

23. What are epipetalous and epiphyllous structures?    2 

दललư (ऐपीपेटलस) और पįरदल लư (ऐपीिफलस) संरचनाएं Ɛा हœ ?  

Or 

अथवा 

What are functions of veins in leaf blade?     2 

पणŊ फलक (ˑįरका) मŐ ᎘शराओ ंके कायŊ Ɛा हœ?   

24. How bulliform cells act in leaves?       2 

पिȅयो ंमŐ आवधŊ  ȕकको᎘शकाएं कैसे कायŊ करती हœ? 

25. Name the cell organelles which store oils and proteins.   2 

उन को᎘शका अंगको ंका नाम बताइए जो तेल और Ůोटीन का भंडारण करते हœ। 

Or  

अथवा  

A eukaryotic cell normally contains a nucleus. Name two eukaryotic 

cells which lack nucleus.        2 

एक यूकैįरयोिटक (ससीमकेȾकी) को᎘शका मŐ सामाɊतः  एक केȾक होता है। 

दो यूकैįरयोिटक को᎘शकाओ ंके नाम बताइए ᎘जनमŐ केȾक का अभाव है। 

26. Write features of Mollusca about notochord, segmentation, 

coelom, level of organisation, symmetry and type of development. 

            3   
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पृʿरǍु , खंडीभवन, Ůगुहा, संगठन के ˑर, समिमित और पįरवधŊन के Ůकार के 

बारे मŐ मोलˋा की िवशेषताएं ᎘लखŐ?   

27. Name the group of animals which have      3 

जानवरो ंके उस समूह का नाम बताइए ᎘जनके पास 

i) two chambered heart and gives birth to young ones. 

दो Ůकोʿीय şदय है और बǄो ंको जɉ देते हœ।  

ii) hollow long bones and have air sacs. 

खोखली लंबी हिǭयां और हवा की थैली होती है। 

iii) chitinous exoskeleton and jointed legs.  

काईटीनी विहकंकाल व संिधयुƅ पाद होते हœ ।  

28. Briefly describe about three disorders of human excretory system.

             3  

 मानव उȖजŊन Ůणाली के तीन िवकारो ंके बारे मŐ संƗेप मŐ वणŊन करŐ।  

Or 

अथवा 

Write the types of animals based on nitrogenous waste excreted. 

Give an example of each.        3 

उȖ᎘जŊत नाइटŌ ोजनी अप᎘शʼ के आधार पर जंतुओ ंके Ůकार ᎘लİखए। Ůȑेक का 

एक उदाहरण दी᎘जए।  

29. Differentiate between C3 and C4 plants based on photorespiration, 

optimum temperature, and primary CO2 fixation product.   3 

Ůकाश ʷसन, अनुकूलतम तापमान और CO2 İ˕रीकरण के Ůाथिमक उȋाद के 

आधार पर C3 और C4 पौधो ंके बीच अंतर करŐ। 
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30. Write an economic importance of each class of algae.   3  

शैवाल के Ůȑेक वगŊ का आिथŊक महȇ ᎘लİखए।  

Or  

अथवा  

Explain how life cycle of mosses is completed including different 

stages.           3  

समझाइए िक मॉस का जीवन चŢ िविभɄ अव˕ाओ ंसिहत कैसे पूरा होता है।  

31. Read the passage given below and answer the following questions: 

नीचे िदए गए गȨांश को पढ़Ő  और िनɻ᎘लİखत Ůʲो ंके उȅर दŐ : 

Proteins are essential components of each living cell. They are 

involved in various structures and numerous functions in different 

organisms. However, the building blocks of these proteins is same 

in all organisms. 

Ůोटीन Ůȑेक जीिवत को᎘शका के आवʴक घटक हœ। वे िविभɄ जीवो ंमŐ िविभɄ 

संरचनाओ ंऔर कई कायŘ मŐ शािमल हœ। हालांिक, इन Ůोटीनो ंके िनमाŊण खंड 

सभी जीवो ंमŐ समान हœ। 

i) How many types of amino acids form proteins in living 

organisms?          1 

जीिवत जीवो ंमŐ िकतने Ůकार के अमीनो अʅ Ůोटीन बनाते हœ ? 

ii) Name a protein which act as a hormone.    1 

एक Ůोटीन का नाम बताइए जो हामŖन के ŝप मŐ कायŊ करता है। 

Or 

अथवा 
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Write the function of GLUT-4.      1 

GLUT-4 का कायŊ ᎘लİखए।  

iii) Which protein is most abundant in living organisms?  1 

जीिवत जीवो ंमŐ कौन सा Ůोटीन सबसे Ůचुर माũा मŐ होता है ?  

iv) Why proteins are considered heteropolymers?   1 

Ůोटीनो ंको िवषम बŠलक Ɛो ंमाना जाता है ? 

32. Read the passage given below and answer the following questions: 

नीचे िदए गए गȨांश को पढ़Ő  और िनɻ᎘लİखत Ůʲो ंके उȅर दŐ : 

The brain is central information processing organ of our body. It 

controls all the voluntary and involuntary actions. Along with spinal 

cord it forms central nervous system. 

मİˑʺ हमारे शरीर का कŐ ūीय सूचना Ůसारण अंग है। यह सभी ˢैİǅक और 

अनैİǅक कायŘ को िनयंिũत करता है। मेŜरǍु के साथ, यह कŐ ūीय तंिũका तंũ 

बनाता है। 

i) Name the components of limbic system.     2 

᎘लİɾक तंũ के घटको ंके नाम ᎘लİखए।  

ii) What is name of outer layer in cranial meninges?   1 

कपालीय मेिन̢जेज  मŐ बाहरी परत का नाम Ɛा है ? 

iii) Which is major part of fore-brain?     1 

अŤ मİˑʺ का Ůमुख िहˣा कौन सा है? 

Or 

अथवा  
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Which part of brain make up ‘brain stem’ along with pons and 

medulla oblongata?        1 

मİˑʺ का कौन सा िहˣा पोसं और मȯांश ( मेडुला ओबलोगŐटा) के 

साथ 'मİˑʺ ˑंभ' बनाता है ? 

33. Gastro-intestinal tract is not an endocrine gland but it secrets many 

hormones. List its hormones and write function of any three of them.

             5 

जठर आंũीय पथ एक अंतः ŷावी Ťंिथ नही ं है लेिकन यह कई हामŖनो ंका ˓ाव 

करता है। इसके हामŖनो ंकी सूची बनाएं और उनमŐ से िकɎी तीन के कायŊ को 

᎘लखŐ। 

Or  

अथवा  

Write name of hormone and its source gland which are associated 

with following conditions.         5 

हामŖन और उसके ŷोत Ťंिथ का नाम ᎘लखŐ जो िनɻ᎘लİखत İ˕ितयो ंसे जुड़े हœ। 

i) Goitre 

गलगंड 

ii) Diabetes mellitus 

मधुमेह 

iii) Diabetes insipidus 

उदकमेह 

iv) Acromegaly 

अितकायता 
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v) Piloerection 

रोगंटे खड़े होना   

34. Draw a well labelled flow chart depicting ten reactions of glycolysis.

             5 

Ƹाइको᎘ल᎘सस की दस अिभिŢयाओ ंको दशाŊते Šए एक नामांिकत Ůवाह िचũ  

बनाएं। 

Or 

अथवा  

Mention the steps of aerobic respiration of pyruvate in which NADH 

or FADH2 is formed.         5 

पायŜवेट के वायवीय ʷसन के चरणो ंका उʟेख की᎘जए ᎘जनमŐ NADH अथवा 

FADH2 बनता है।  

35. Using a diagram explain different phases of cell cycle in a human 

cell.            5  

आरेख का उपयोग करके मानव को᎘शका मŐ को᎘शका चŢ के िविभɄ Ůाव˕ाओ ं 

की ʩाƥा की᎘जए। 

Or 

अथवा  

Describe the sequential events in prophase-I by mentioning one 

feature of each stage.         5 
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Ůȑेक चरण की एक-एक िवशेषता का उʟेख करके पूवाŊव˕ा- I मŐ 

अनुŢिमक घटनाओ ंका वणŊन की᎘जए।  

 

 

 

 

 


